FULE

INSTRUMENT PROCESSING SHEET
Agency Madison County Sheriff's Office

s/N 80-001307

Florida Depariment of  paten 05/28/2020
Law Enforcement

DI Completion Date Lnl lo IQDQODShip )ﬁp/u Qn/dD Ocmi  OeE

intake performed By RAW Quality Checks Performed By 1/ +f | Flow Calibration Performed By ___5('(')
Annual A Breath Tube Screen Flow Column # ﬁ { ElO’f)
| O Registration K Replace External O-Rings HSL/min ~17mm
| O Return from CMI / EE A Instrument Set Up Verified & 15L/min - 53mm
Visual Inspection: & R-value -‘.'b 0 ?30L/m|n —103mm
& Flow Verification (L/s) ﬁ R-Value
| @ Case @ Handle i .
Flow Column # ATFP-\02 Post Calibration Verification (L/s)
4 Keyboard @ Dry Gas Shelf Sz i
2 Foot @ Brosth Tube 32mm__0.130 (139 -.169) |Flow Column# BN TPI0
@ Ports @ screws Tight 36mm__ (0. V56 (156-.190) | 32mm _ s\ (.139 - .169)
_ _ S3mm_0, 222 (228-.278) | 36mm _ L] (.156 - .190)
Other Equipment/ Accessories: 103mm__0.503% (447-.547) | S3mm __+ 25D (.228 - .278)
O Powercord O Printer Cable B Barometric Pressure Check 103 mm __i § (.447 - .547)
(] Static Bag 8 12v DC Cable Gauge ID # z8427
Notes: & Stability Checks Maintenance _ Performed By
Simufator | Serial # Lot #/Exp O Battery Replacement
0O Dry Gas Regulator Replacement
0.050 gg\ﬁ\j}ggfo 'I [J Breath Tube Replacement
Final Release Date 0.080 SDio\% 201005 g:" Q Other
- . ' Temperature Checks Performed By
FDLE Digitally signed spaez |05 -1 F-202) o Lab Temp °C 7T
Alcohol by FDLE Alcohol || 0.200 ZO\qoq'D External Digital Therm. ID#;

. Testing Program (52078 |o%—30-202\ 34°C +-.2 Serial #: :
Testing Date: 2020.06.11|| 0.0800Gs | N/A  |AGA3\Lo3 Y345 +-2 serial#: V)|
Program 15:56:57 -04'00' W\—\2—-202| y 349C +-.2 Serial #: mﬁ%%ﬁ

| Calibration Adjustment Performed By _ 3t Department Inspection Performed By «t
| Barometric Pressure Gauge 1012|014 D# 58198 Barometric Pressure ID# ___ &/ 8 4 -\
| | Simulator Serial Number | Lot Number | Expiration Gauge Instrument \ O‘q
|| 0.000 mesvai N/A N/A Mouth Alcohol Solution Lot # S0\4-6
0.040 meses2 | 1909 3-§ -2\ Acetone Stock Solution Lot # G011-A
| Simulator Serial Number
|| 0-100 5088 (19100 [ 9-9-31 || o000 MP5DR G
|1 8200 me SU5Y { 19040 -29-31 Interferent Ny 6[)8—]
0.300 mesuss 14010 i-3-8\ ||[0050 MeDSs
0.080DGS | N/A 0351908004 4-5-g1]|[0080 Mt 5059
Q@ Post Calibration Adjustment Stability Checks 0.200 M PHAD
= R A F
Simudator Serial Numb‘er Lot Number | Expiration Attachments
0.050 14 PHoYY 9 NQO'S‘P\ I 5 4"3\ | Form 41 g Post-Stability Checks
0.080 mPr)DSGI ¢9—D] “i 068 5"‘ Y "3\ Stability Checks ¥ Flow Calibration
0.200 MED | A01964D | H-30- 2\ ) Calibration Certificate QO Form 40
0.080 DGS | N/A AGA3\ 03 [ lI-1a-al Calibration Adjustment Y )| O Other
Notes/Suggested Service: dad GLC(-_&’MS'" s oliths A | M instrument Complies with Chapter 11D-8, FAC
Used for secoend Cal adiust. O tnstrument Does Not Comply with Chapter 11D-8, FAC
0:-040 Letrd#& 20080 pa } =\0 - 29 ' Return to/Place into Evidentiary Use
O. 100 ¥ Holi90 Y-l -3 O Remain Out of Evidentiary Use
O-200 Lot aplteo 3 -(8-32 Q’Conduct an Agency lnspection Before Evidentiary Use
0 .300 Lotde 2D 03D -2 -2 2020.06.10 ] 2020.06.11 15:52:55
}[TJQ MP@ 14:56:16 -0400' Bt Kidlond 000
Tech Review / Date Admin Review / Date

FDLE/ATP Form 48 January 2018
Issuing Authority: Alcohol Testing Program

PRINTED COPIES UNCONTROLLED
For Internal ATP Use ONLY
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Florida Department of Law Enforcement
Alcohol Testing Program

DEPARTMENT INSPECTION REPORT ~ INTOXILYZER 8000

Agency: MADISON COUNTY SO Serial Number: 80-001307
Time of Inspection: 13:39 Date of Inspection: 06/06/2020 Software: 8100.27
Check or Test YES NO Check or Test YES NO
Diagnostic Check Date and/or Time Adjusted
(Pre-Inspection): OK Yes No
Minimum Sample Volume Barometric Pressure Sensor

Check: OK Yes Check: OK Yes
Alcohol Free Subject Mouth Alcohol Test:

Test: 0.000 Yes Slope Not Met Yes
Interferent Detect Test: Diagnostic Check

Interferent Detect Yes (Post-Inspection): 0K Yes

Alcohol Free 0.05g/210L Test 0.08g/210L Test 0.20g/210L Test 0.08 g/210L
Test (g/210L) (g/210L) (g/210L) Dry Gas Std Test
(g/210L) Lot#:201905A Lot#:201905B Lot#:201904D (g/210L)

Exp: 05/14/2021 Exp: 05/14/2021 Exp: 04/30/2021 Lot#:AG931603
Exp: 11/12/2021

0.000 0.048 0.078 0.198 0.078

0.000 0.048 0.078 0.198 0.07%

0.000 0.048 0.078 0.198 0.079

0.000 0.048 0.078 0.198 0.079

0.000 0.048 0.078 0.199 0.079

0.000 0.048 0.078 0.199% 0.079

0.000 0.048 0.078 0.1398 0.078

0.000 0.048 0.078 0.199 0.079

0.000 0.048 0.078 0.198 0.079
| 0.000 0.048 0.078 0.198 0.079
Standard Deviations | 0.0000 0.0000 0.0004 0.0003

Average Standard Deviation of 0.05, 0.08 and 0.20 g/210L Tests: 0.0001 Number of Simulators Used: 5

Remarks:

/i

2020.06.11
@ H 15:53:52

-04'00'

The above instrument complies ( X ) does not comply ( ) with Chapter 11D-8, FAC.

I certify that I perf§7d this spect@&n accordance with the provisions of Chapter 11D-8, FAC.

SHAYLA D PLATT
Signature and Printed Name

06/06/2020
Date

FDLE/ATP Form 41 —Revised August 2005



a0ie 3N COUNTY S0
viokilyzer - Rleoho! Analyzsr
‘ndel 5000 SN 80-0813(7
157272020
Software: §i00.27

Test 0/210L Time
fir Blank p.nog 14:21
Contro} ¥est §.647 14:21
fir Biank 0,000 14:22
ntrol Test §.045 14:22
N 0,936 14:23
Test 1,047 1424
{090 14:24
atrol Test Shats

8.0487

3,028

crg Daulh)  1.2ER

Operator‘s Signature

S’kQ\ol\l‘\\/ C hec lcg

T1SON COLNTY 53

itoxi luzer - Rizonol Analyzer

del 8000 SN 80-001307
/272320

ftugre; 8100.¢7

ITSON COURTY S0

itoxi lyzer - Alcohol Analyzer

gel 8000 SN 80-901307
/2772020

ftugre: 8100.27

st ' g/2l0L Tine 5¢ g/210L Tine
T 8lank 0.000 14:26 i Blank 0.000 14:3}
ntro} Test 0.0H 14:26 ntrol Test 0.197 14:32
' Blank 0.000 14:27 r Blak 0.000 14:33
ntral Test 0.077 14:28 ntrol Test 0.198 14:33
I Blank 0.000 14:28 r Blank 0.000 14:34
ntrol Test 0.077 14:29 ntrol Test 0,198 14:3
ir Blank 0900 14:29 r Blank 0.000 14:35
ntrol Test Stats 7trol Test Stats

4Jerage 0.0770 uerage 0,1877

td Dey §.%000 td Ceu 0.0006

e} Std Deul%)  0.0000 2] Std Deu(2) 0.292!

wex

o,

Qperator’s Signature

724

Operator’s Signature

DISON COUNTY S0
toxilyeer - Alcohol Analyzer

del 8000 SN 80-001307
/2020
ftuare: 8100.27
w21l Tine '
ir Blank 0,000 14:37
ntrol Test 0,080 14:38
i Blank 0,000 14:38
ntrol Test 0.079 14:38
ir Blank 0.000 14:39
ntrol Test 0.079 14:39
ir Blank 0,000 14:40
ntrol Test Stats
0.0793
; 0.0006 1/1;
el Std Deu(%)  0.7277 J?#

2020.06.1
@ K 115:54:17

-04'00"

Dry

i

Operator’s Signature




HADISON COUNTY S0

Intoxilyzer - Ricohol Analyzer

Mode! 8000 SN 80-001307
0670572020 17:26:40

Auto Calibration
Max Power Res Ualue = 40
Ruto Range Res Ualue = 32

Sol Uglue = 0.000 g/210L #xx
Fit value = 0.0000 mg/! %%%%
Samples Taken = 4, Discarded = |
3um Jo = 12805, Sum o = 12689
<< CHANNEL 1 »»»

Sample L RS (% Abs Ref)
Sample #1 = 0.1180  (-0.0120)
Sample 42 = 10,1090 (0.00003
Sample #3 = 0.0850  (0.0390)
Sample #4 = 10,0860  (0.0540)
Aug % Abs = 0.0833 (0.0310)

ST0 DEU = 0.0136 (0.0279)
ReL STD DEU = 1. 5%7 199 91f]

<<<<< CHANNEL 2 >»»

Sample % Abs (% Abs Ref)
Sample #l = 0.1410  (-0.0230)
Sample #2 = 01030  (0.0070)
Sample #3 = 00950 (0.0230)
Sample k4 = 10,0880 (0,930

fug % Abs = 0.0953 (0.0217)
STD DEV = 0.0075 (D.0140)
REL STO DEV = 7.873 (64.835)

Sol Ualue = 0.040 /210l xx
Fit value = 0.1905 mg/! %%%%
Sampies Taken = 4, Discarded = |
3um To = 12793, 9um [o = 12682
<<<<< CHANNEL 1 »»»>»

Sanple % Abs (% Abs Ref)
Sample #1 = 0.8620  (-0.0030
Sample W2 = 0.8350  (0.00S0)
Sample #3 = 0.8510  (0.0370)
Sample #4 = 0,880  (0.0420)

fug % Pbs = 0.8480 (0. 0283)
STDDEV = 0.0118 (0.0178)
REL STD DEU = 1.390 (60.633)

<< CHANMEL 2 >»>»»

Sawple % Abs (% Abs Ref)
Sample #1 = 1,543 {0.0020)
Sample #2 = 1.5080  (0.0230)
Sample #3= 1.5260  (0.010)
Sample 4 = 1,530 (0.0330)
Aug % Rbs = 1.5233 (0.0250)

ST0 OEU = 0.0142 (0.0072)
REL STD DEU = 0.931 (28.844)

Sol Ualue = 0.100 /2100 %«
Fit ualue = 0.4762 mg/1 2322
Samples Taken = 4, Discarded = |
3un Jo = 12781, Sum lo = 12675
<< CHANNEL | oo

Sample LAbs (% Abs Ref)
Sample B = 5300  (-0.0400)
Sarple #2 = 53430 (0.0040)
Sample 3= 53510 (-0.0080)
Sample #4 = 5.3880  (0.0270)

fug % Abs = 5.3560 (0.0077)
STODEV = 0.0104 (0.0178)
REL ST DEV = 0,195 (231.988)

<<« CHANNEL 2 >0

Sample LA (% Abs Ren)
Sanple #1 = 99170  (-0.0240)
Sanple 82 = 9.8%80  (0.0130)
sarple #3 = 9.9080  (-0.0020)
Sample 4 = 9.8970  (0,0270)

Aug % Abs = 9.9010 (0.0127)
STDOEU = 0.0061 (0. 0145)
REL STD DEU = 0.06! (114.436)

Sol Ualue = 0,200 g/2100 #xx
Fit value = 1.954 gyl 132
Sanples Taken = 4, Discarded = |
3um To = 12774, 9um 1o = 12669
<€<<< CHANNEL | >

Sample % Abs (% Abs Ref)
Sample B = 37100 (-0.323)
Sample #2 = 3.6900  (-0.011D)
Sample H3 = 3.6580 (0,019
Sample #4 = 37010 (0.017D)

Aug % Abs = 3.6863 (0.0083)
STODEU = 0.0168 (0.0188)
REL STD DEU = 0.456 (201.276)

<K< THANNEL 2 >

Sample 4Rbs (% ADS Ref)
Sample #1 = 6.8740  (~0.0150)
Sample #2 = 6.8610  (-0.0100)
sample #3 = 6.8470  (0.0040)
Sample #4 = £.8490  (0.0150)
Aug % fbs = 6.8523 (0.0030)

STODEU = 0.00%6 (0.0125)
REL STD DEV = 0.111 (417.566)

501 Ualue = 0.300 gr210L %+
Fit value = 1.4285 my/1 2322
Samples Taken = 4, Discarded = |
3um o = 12771, 9um [o = 1267)
€< CHANNEL | »o0>

Sample L5 (% Ads Ref)
Sample #1 = 19160 (~0.0170)
Sarple #2 = 19170 (0.0190)
Sample #3 = L9070 (0.0110)
Sample #4 = 19080 (0.0180)

Aug % Abs = 1.9107 (0.0160)
SO DEU = 0,005 (0.0044)
REL STD DEU = 0.288 (27.243)

<<« CHANNEL 2 >»»»

Sample % Abs (% fbs Ref)
Sarple Bl = 3.5520  (-0.0070)
Sample #2 = 3.5370  (0.0380)
Sample #3 = 3.5570  (0.018D)
Sample #4 = 3.5540 (00280

fug % Ads = 3.5493 (0.0280)
STO OEV = 00108 (0.0100)
REL STD DEU = 0304 (35.714)

sxekx AUTO CAL DATR sikkk
<<<<< CHANNEL 1 >
Sol Ual = 0.0000 ngr1 or 0.000 g/2ilL
%8s = 0,093
Std Dau = 0.0! Rel Std Dav = 14.55
5ol Ual = 0,195 ng/1 or 0.040 g/210L
%hbs= 0,848
St Dev = 0.01 Rel Std Dev= 1,39
Sol Ual = 0.4762 mg/l or 0.100 g/210L
S5 = 5.3%
StdDeu = 0.0) Rel Std Dev= 10.18
Sol Ual = 0.9524 mgr1 or 0.200 g/210L
%fs = 3.686
Std Dev = 0.02 Rel Std Dev = 0.48
Sol Ual = 1.4286 mgr! or 0,300 g/210L
yaps = L1
Std Dev = 0,01 Rel Std Dev= 0,28
Zero Order Coef = -1745.28
First Order Coef = 9316.82
Second Order Coef = -1535.61
Standard Deviztion = 2770.889160
<<¢< CHANNEL 2 >
Sol Ual = 0.0000 mgr1 or 0.000 gr2ilL
ras = 0.0%
Std Dev = 0.01 Rel Std Dev = 7.87
Sol Ual = 0.1905 mg/1 or 0.040 gr21L
g5 = 1523
St Deu= 0.0) Rel StdDev= 0.93
Sol Ual = 0.4762 mg/1 or 0,100 gr210L
% fbs = 9.901
Std Deu = 0.01 Rel Std Dev = 0.06
So] Ual = 0.9524 mg/1 or 0.200 g/210L
7fbs = 5832
Std Deu = 0.0 Rel Std Dev = 0.1
Sol Uzl = 1.4286 mg/! or 0.300 gr210L
THs = 3.548
StdDev= 0,00 Rel StdDev= 0.30
7ero Order Coef = -1420.42
First Order Coef = 4540.06
Second Order Coef = -442.21
Standard Deviation = 2737.310058

/i

/@ { 2020.06.11
15:54:41 -04'00

' Solution Stats Quadratic Fit Chan |
1At Fit Residuz! |
vgRlll gl g/2llL ;
0000 -0.018 0.0187

D040 0106 -0, 0661 |
0100 0,087 0.0135 :
P 0.200 0,247 -0. 0465

O O 3 0.0805 |

» Solution Stats Quadratic Fit Chan 2

At Fit Residual :

P o2lL gt g2l

0. -0.020 0. 06200 |
C 0040 0,107 -0, 0657 '
V0100 0.087 1.0130 :

10,200 0,245 -0, 0450 |
V0,300 0.2 0.0786 !

Sol Uzlue = 0.080 g/210L x¥x

Fit value = 0,3810 ng/1 %%%%

Samples Taken = 4, Discarded = |

wakkr CHANNEL |

Sample #1 = 7782.00

Sample #2 = 763800

Sample #3 = 77%6.00

Sample #4 = 7802.00

Ruerage Result = 7732.0000

STO DEV = 84,5931

REL 57D DEU = 1,094

XxRkekkikk

weece CHANNEL 2

Sample 1 = 8487.00

Sample 2 = 8390.00

Sample 3 = 8430,00

Sample #4 = B509.00

Auerage Result = 8443, 0000

STD DEV = 60,5558

REL STD DEV = 0.717

f1es3teteid

Ory Gas H20 Rdjust ResUlts xkkkkeck
Barometric Prassure = 1012
3.un H20 Adjust mg/lx10,000) = -3922
9 un H20 Adjust (mgv1x10,000) = -4633

*ekx AUTO CAL PASS

Giens ok prepansgl propely

il M}P&H cad aagus)fge
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FADISON COUNTY SO
Intoxilyzer - Alcohol Anajyzer

ffode] 8000 TSN 80-001307
06/06/2020 03:08:39

Auto Calibration
ltax Power Res Ualue = 4
Auto Range Res Ualue = 33

S0l Ualue = 0,000 g/210L #xx

Fit value = 0,0000 mgr] 2352

Sanples Taken = 4, Discarded = |

3un To = 12801, 9um lo = 12732
<< CHANNEL | >0

Sample L5 (% Rbs Ref)

Sample 1= 0,160 (0.0000)
Sample #2 = 01250 (-0.0010)
Sample #3 = 0.0990 (00090
Sample #4 = 0.1050  (0.019D)

Aug % Abs = 0,1097 (0.0090)
SO OEU = 0.0136 (0.0100)
REL STD OEU = 12.414 (J11.11D)

<O CHANNEL 2 oo
Sample % Bbs (% Abs Ref)

Sample #1 = 01100 (-0.0220)
Sample #2 = 0.0920  (-0.0120)
Sample #3 = 0.1260  (-0.0300)
Sample B4 = 01010 C-0.0180)

Aug % ADS = 0,1063 (-0.0200)
STOOEV = 0.0176 (0,009
REL STD DEU = 16.567 (45.826)

Sol Ualue = 0,040 g/210L x#x
Fit value = 0,1905 ng/| 2222
Samples Taken = 4, Discarded = |
3un 1o = 12896, Sum o = 12732
<K< CHANNEL | >

Sample % Rbs (% RAbs Ref)
Sanple #1 = 10,8540 {-0.00200
Sample 2 = 08690  [-0.0010)
Sample #3 = 0.8340  (-0.0030)
Sample #4 = D.8360  (0.024D)

Aug 4 Ads = 0.8463 (0.0087)
STO DEV = 0.0197 (0.0150)
REL ST DEU = 2.322 (225.656)

<K CHANNEL 2 oo
Sample % Abs {% Abs Ref)

Sample #1 = 1,510 (0.0020)
Sarple #2 = 15200 (-0.010M)
Sample #3 = 14750 (0.0010)
Sanple #4 = LSIST  (~0.0040)

AUg % Abs = 15047 (~0.0043)
STO DRV = 0.0257 (0.0055)
REL STO DEU = 1708 (127.038)

Sol Ualue = 0,100 g/210L #«
Fit value = 0.4782 rgsl %23
Samples Taken = 4, Discarded = |
3um To = 12894, 9un lo = 1273
<< CHANNEL 1 »»o»

Sample % fbs (% Abs Ref)
Sample #1 = 1.9530  (-0.0130)
Sample 82 = 19220 (-0.0020)
Sample #3 = 1.9060  (0.0170)
Sample #4 = |.9280  (0.0000)
Rug % Abs = 1.9187 (0.0050)

STO DEU = 0.0114 (D.2104)
REL STD DEU = 0.593 (208, 806)

<4< CHANNEL 2 >»»
Sample % Abs (% 8bs Ref)
Sanple #1 = 3.5980 0.0170)

[-
Sample W2 = 3.5880  (-0.0160)
Sample #3 = 35530 (-0.0030)
Sample &4 = 3.5660  (-0.0060)
0

Rug % fbs = 3.5683 (-0.0083)
STD DEU = 0.0166 (0. 0068)
REL STD DEU = 0,466 (81.682)

Sol Uatue = 0.200 g/210L %+
Fit value = 0,.9524 mg/1  %%%%
Sanples Taken = 4, Discarded = |
3um o = 12893, 9um lo = 12732
<<<<< CHANNEL 1 »»o>>
Sample % Rbs {% Abs Ref)

Sample ¥l = 3.6820  (-0.0080)
Sanple #2 = 3.6570  (-0.007D)
Sample #3 = 3.6580  (0.0260)
Sample 84 = 3.64%0 (0,060

Rug % Abs = 3.6547 (0.0083)
STD DEU = 0.0043 (0.0166)
REL STD DEU = 0,135 (199.479)

<K< CHANNEL 2 >

Sample %Rs (% Abs Ref)
Sample #1 = 6.8340  (-0.0010)
Semple #2 = 6.8030  {0.0080)
Sample W3 = 6.8080  (0.0220)

Sample B4 = 6.8170  (0.0080)
Aug % Abs = 6.8093 {0.0127)

STD BV = 0.0071 (0. 0081)

REL ST BEU = 0.104 (63.812)

Sol Ualue = 0,300 g/210L xxx

Fit vzlue = 1.4286 mg/1 %23

Sanples Taken = 4, Discarded = |

3un To = 12892, 9um lo = 12730
<< CHANNEL 1 >»»»

Sarple % Abs (% Abs Ref)

sample #1 = 53050 (-0.0150)
Sample 2 = 5.3280  (0.0000)
Sample #3 = 5,870 (0.0120)
Sample 4 = 5.2900  (0.0350)

Rug % Abs = 5.3017 {0.0157)
STODEU = 0.0228 (0.0178)
REL STD DEU = 0,431 (113.526)

<<<<< CHANNEL 2 >»»

Sample %Abs (% Abs Ref)
Sample #1 = 9.7930  (-0.0010)
Sample #2 = 9.8170  (-0.0060]
Sample #3= 97930  (-0.0040)
Sample #4 = 9,780 (0.0170

Aug % Abs = 9.7987 (0.0023)
STD DEV = 0.0183 (0.0127)
REL STO DEU = 0.166 (546.043)

sk AUTO CAL DATA sokkxx
<< CHANNEL 1 »»»
Sol Uzl = 0.0000 mg/1 or 0.000 g210L
%05 = 010
Std Dev = 0,01 Rel Std Dev = 12,4
Sol Ual = 1.1905 mg/1 or 0.040 g210L
¥ fbs = 0.846
Std Dev = 0,02 Rel Std Qe = 2.32
Sol Uzl = 0,4762 mg/1 or 0,100 gr2l0L
Zfbs= 1919
Std Dev = 0.00 Rel Std Dev = 0.8
S0l Ual = 1.9524 mg/] or 0.200 g/210L
% Abs = 3.655
Std Dev = 0,00 Rel Std Dev = 0.13
Sol Ual = 1.4286 mg/1 or 0.300 g/210L
SAbs = 5302
Std Dev = 0.02 Rel Std Dev = 0.43
Zero Order Coef = -277.45
First Order Coef = 2549.04
Second Order Coef = 37.18
Standard Deviation =  8.497903
<< CHANNEL 2 »»»
Sol Ual = 0.0000 ng/1 or 0.000 g210L
YAbs = 0106
Std Deu = 0.02 Rel Std Dev = 16,57
Sol Ual = 0.1905 mg/} or 0,040 g/210L
%Abs = 1505
StdDev = 0,03Rel StdDev= 1.7}
Sl Ual = 0.4762 mg/} or (.100 g/210L
% fAbs = 3.568
Std Dev = 0.02 Rel Std Dev = 1.47
Sol Ual = 0.9524 mg/1 or 0.200 gr210L
%Abs= 6.809
Std Dev = 0.01 Rel Std Deu = 0,10
Sol Ual = 1.4286 mg/) or 0,300 gr2l0L
% Abs = 979
Std Deu = 0.02 Rel Std Dev = 1,17
Zero Order Coef = -121.29
First Order Coef = 1306.75
Second Order Coef = 16,59
Standard Deviation = 19262873

Solution Stats Ouadratic Fit Chan |
Act Fit Residuz!
grlil gL gelll

0,000 0.000 -0.0001

0.040  0.040 -0.0000
0100 0.100 0.0002

200 0.200 -0.0002
0,300 0.300 0.0001

Solution Stats Quadratic Fit Chan 2 |
fict Fit Residual
2100 gliL g/210L

g

0.000  0.000 -0.0004

0.040  0.040 0.0005 i
0.100  0.100 0.0002

(.200  0.200 -0.0005

0,300 0.300 0.0002

Sol Value = 0,080 /2100 %

Fit value = 0.3810 mg/1 %23

Samples Taken = 4, Discarded = |

*xpex CHANNEL |

Sample Bl = 3043.00

Sample #2 = 3031.00

Sample #3 = 3109.00

Sample 4 = 2984.00

Auerage Result = 3041,3333

STD DEU = 63.1374

REL STD DEU = 2,076

fiteteate sy

oekxk CHANNEL 2

Sample #l = 3357.01

Sample #2 = 3359.00

Sample #3 = 3381.00

Sanple #4 = 338000

Ruerage Result = 3366.6667

ST DEU = 12.423]

REL STD DEV = 0,369

pies2e$233

Dry Gas H20 Adjust Results xxkkxskix
Barometric Pressure = 014
3 um H2D Adjust (mg/1xL0,000) = 768
9 um H20 Adjust (mg/1x10,000) = 443

sxex QU0 CAL PASS

Cal \%9 ust# o
%P
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